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ANSWERALL QUESTIONS
PART-A (10x2=20 marks)

Find the particular integral of (D?— 1)y = .

2
Solve : XZ%-FXQ =

dx

If i :xzf\kxﬁ' and C is the straight line joining the
points (0,0) and (1,1}, find If'd?
. ¢

State Green’s theorem.
Define harmonic furiction.

Prove that f(z)= e (cos y—isiny) is not an analytic
function.

State Cauchy’s integral theorem.

Define removable singularity.

State the final value theorem in Laplace transform.
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12.

Find L[ +1).

(2) @ Solve '+ 4y =tan 2x by the method of (

®

@

®)

PART-B (5x16=80 marks)

variation of parameters.
(i) Solve (D? +2D+1y=e™ +17sin5x.
Or

Solve:
(2D—3)x+Dy:e’, Dx+(D+2)y=cos2t

Verify Gauss divergencé theorem  for

? = (2){—2)1T +.{rZ xz*k  taken over the
region pounded by x=0,x=1,y= 0,y=1lz=
Oandz=1.

Or"

< (i) Determine the constants a, b, ¢ so that

i;(x+2y:+az)7+(bx4y-z)7

+(@x+cy+ Zz)lz is irrotational. Find a
scaladr fanction ¢ such that f =V¢.

(i) Evaluate
I[(x + yydx+(2x— 2)dy + (v + 2)dz] where
¢

C is the boundary of the triangle whose
vertices are (2,0,0), (0,3,0) and (0,0,6).

2




[image: image3.png]13. (a) @) Find the image of the strip 2<x <3 under
1
g

®)

w=

@) If f(z) isan analytic function of z, prove that

# & 2 N
Ears f@f =4 @ ®
Cor
® O Determine the analytic function ®

f@=u+w such that
u—v=e(cosy—siny).
(i) Determine the bilinear transformation ®
- which tnaps the points 1, i,0into 1,%,-1
regpéctively.

2 + 2
cos/m” +SINE 4 where C is ®

14. (@ ® Evaluate
@ f[ GrDE+2)

(ii) Expand f(2) :(7_—1;(—2:) in a Laurent's
series valid for 1< 12. <2. (8)

Or




[image: image4.png]®) () Evaluate J;(xz 5

15. (a) () Evaluate [ w53t4w54t}

(ii) Using L.T., solve y"—3y'+2y=¢" given
»(0)=1 and »'(0)=0.

Or
® © Find 2| log= L] ana £ A —|
tnd L) log 77 | an (2 +9)
(i) Find the Laplace transform of the

périodic function

sin 24, 0<t<£
2

Fo= .

0. —<t<7
2
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